o 183} Zo] mABCD 7 ¢
O° ¢3sta 9tk AD =
4, BC=74 , AB+CD ¢
2 ot

\VARR 4
0
iy

11

AB+CD=AD+BC=4+7=11 o]t}




2. TS O"oA PA, PB = ¥ 0O 9 HAo|1l /APB = 50° ¢ of,
(ACB 9] A7|& F5tof=h

P B
> £ °
[> Heh: 65 °
/AOB = 130°

1
. LACB = §>< 130° = 65°




3.

ohe I™OlA x + y 4z 9 gk stolet

e
)
N
o——~
= °

1
x°=z°=§x180=90°,y°=180°—60°—90°=30°
Lx+y+z=90°+30°+90°=210°




VN TN
& 1A 5.0ptAB = 5.0ptBC,
/ABD = 65°, /BDC = 30° & @, zCAD
o] A7]& o=t

L
o

>
>

0
o

55 °

~&B

N N\
5.0ptAB = 5.0ptBC ©|2&
/BAC = /ADB = /BDC = 30°
ACAD ol A
/CAD = 180° - (30° + 30° + 65°) = 55°




> &
19
|> EII::IF TOG

B

AACP oA LCAP = 85° - 35° = 50°,
APCB 914 (PCB + /PBC = 180° - 85° = 95° =
5.0ptBC : (5.0ptAC + 5.0ptBD) = 50° : 95° = a : (5.0ptAC +
5.0ptBD)

95° 19

0ptAC + 5.0ptBD
5. pt + 5. pt _GXW_]__Oa




